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Instructions to candidates: & ®rRoR ZRuds:

1. Students who have attended 30 Marks Internal Assessment scheme will have to
answer for total of 70 marks.
30 @08n¢ 0808 TP VIR LWRHTNRE 70 @ozne I,ZNON v0Z0ReE.

2. Students who have attended 20 Marks Internal Assessment scheme will have to
answer for total of 80 marks.
20 08¢ WoB08 TT[APY WIE LTRHTNES 80 @ogne I,ZNOn wgdRu e

3. Note: Q.No (14 or 15) in Section - D is compulsory for 80 marks scheme only.
RRUE : AR - & YN B3I, F0s3 (14 BT 15) 80 w03ne I IRVR L0IOARITON 0.

SECTION - A i -

| Answer any Two questions. 5 marks each. 2x5=10

CIRRTRRTL WBR TIAVR LoD, 3o 5 Lwosns.

1. Mention the factors influencing time value of money.

Reog TS0ty AFFORT BoBRYRy 9%,

2. Write a short note on money market.
TLITOAD WITOTLE,0 e 35,69 WTAWD.

3. Mention the types of dividend
SILROBT DNG BTONYTY, &9A.

4. A Project costing Rs 6,00,000 Is yielding profit for 6 years Amounting to Rs. 1,20,000,
Rs. 1,35,000, Rs. 1,30,000, Rs. 2,45,000, Rs. 1,75,000 and Rs. 1,20,000. Calculate the
pay back period of investment.

. 6,00,000 da;scj LORFEEROTN 6 IRENY To© Twe. 1,20,000, 3w. 1,35,000, 82.1,30,000,
8. 2,45,000, Sr. 1,75,000 83 Tx. 1,20,000 o033, 2e83. WoBmY @009 WIdE
VRHODT, I8, To80.
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SECTION -B & -2

| Answer any Three questions. 10 marks each. 3x10=30
CIRTTRTOR R0 F,ZNRIN Ywgda. 3w 10 wosne.

5. What do you mean by capital market? Discuss the function of capital market.
WOBTY [T QOTTERD? WOBTDY ITOTES, 030 TOE YT 23238 A0.

6. Discuss the recent trends in Indian money market.
LTI &3 F[RTBLS 03 LI WTTEINNYTY, 13w A0.

7. Bharath Co Ltd has Rs. 5,00,000 sales, Rs. 3,50,000 variable cost and 1,00,000 fixed
cost the debt is Rs. 2,50,000 @ 10% interest. Calculate the operating financial and
combined leverages.
0BT FOBACIN BR. 5,00,000 SZwoees, 8R. 3,50,000 wuewnya dag @y Twe. 1,00,000 %_ap
IR TBRoDT. 3¢ 100 WRBTT e 8R. 2,50,000 SNE ATEIT 35 ,BEOTAT &5, 0B
Wi, MART BT TR ROWD.

8. Amulya Co Ltd. is considering the purchase of a new machine. Two machines named
Tiger and Horse are available in the market each costing Rs. 2,50,000 cash inflows
expected from each are of follows.

VTR, 80 3T L0 0003R,eTTTLITTY, BT CRewaioRdT. 2 008 ned 3o 083
TOTE) WIVTIFL 0N ORI 8030053 L3030 BR. 2,50,000 SNTIZL. 85 VW C3208,N90T
TOAFT TN WEROR) 88 =0T,

Year ==e_ Snod we o0y Cash inflows (Rs)
Tiger Horse
1 1,00,000 1,10,000
2 90,000 1,00,000
3 60,000 70,000
4 50,000 60,000
5 20,000 30,000

The company has a target return on capital of 10% risk premium rate are 3% and 7%
respectively for investment in Tiger and Horse machine, which machine is preferred? use
NPV method.

BOFTROI Je3T® 10T, WORYT 750 T, BFOTEY, LEVFRIZT. MoT08T TT 3 % 302
S0ToBEE, WROIBN Be 7T, Be3oeoN eDFRIT. T3V B3 2 00N 0350TYHTITY
S00eLFLIEB> ROWITTY, FAT V¥ TIQ, BT B0HY 9.
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10.

11.

12.

Discuss the different types of dividend policy.
CRLTROB S LT ac;pamﬂsg{ W3 A

SECTION - C &xn-2

Answer any Two questions. 15 marks each.
CIRFTRTEOL JBR> FFAINR Y0ZOA. IS 15 WOBNLL.

Define financial management? Discuss the functions of financial manager.

Q.P.CODE: 51827

TLOTOR DREDHBOR m&’j@ eRD? TEITOE DT DI TOORFNYRY LdedF A,

Discuss the methods of marketing of new issues.
THF WRMNBAYRY, TRTES BT QTN 2323 3.

From the following information estimate the working capital requirements.

B3 IB0T RIEINTOT TR WORTVT BNIINTTY 8, T30,

1. Elements of cost 5&;&56%

Raw materials B, OTINTED
Labour 3RO
Overhead shoeen e

2. Other information =223 In&aned
Raw material in stock
T3, MOBITINGY TR BT
Units produced YOTY,TECIIOT JAINED
Finished goods in stock
AT TRING AT ORE
Cash in hand
3,00OTT T
Credit from suppliers
TNT,BT0000T MOT BED

Time given to customers for payment
Mo,BBOMN Teo TOTSTOL VETT WTL

Rs
240
80
80

1 Month

1 &cnss
1,00,000

1 Month

1 &ons:

Rs. 2,00,000
gw. 2,00,000
| ¥ Month
1%z gonss

1 Month
1 soned
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13. A project costing Rs. 8,00,000 has the below net cash flow Calculate NPV and IRR @
10% and 14%.
2083 03Re230I 53 BR. 8,00,000 83 3$B0ROZ A$ BT L TOTTY, BRODT. AT & Q&Y
%0 &0° &0y Be 10 3083 3¢ 148 0T 30X LD,
z&@e Year Tt ™0 Cashflow

1 1,60,000
1,40,000
2,60,000

80,000
2,40,000
1,20,000
1,60,000

0o ~N o g b~ W BN

1,80,000

SECTION-D &x»n-&

Note: Compulsory question for 80 marks scheme only. 1x10=10

RAUB: 80 woINS BIBLER 0o et B3RS

IV Answer any one question. 10 marks each.

CIRFTRTOL WOt FBA B0, IS 10 woBneL.

14. Explain the functions of SEBI.
AW TIOPFATTY DO
15. Explain the determinants of working capital.

TR WORTRIRT) AFFORIT LR BOBNERY, WUrA.

*k*
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